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Section One Vocabulary (30 Points)

. Match the words in Column A with their definitions in Column B. Write

the letter of the answer to each word in Column A on your ANSWER
SHEET. (10 points, 1 point for each)

Column A Column B
1. retrieve A. vigorous and energetic
2. hind B. certainly, unavoidably
3. intangible C. person who is radical in thought or action
4. subtlety D. to cover with a substance
5. robust E. to live longer than
6. outlive F. of the back part
7. illicit G. the quality of not being easy to notice or understand
8. inevitably H. unlawful, illegal
9. extremist I. to get back
10. smear J. not able to be touched but still sensed
II. Read each of the following sentences carefully, and choose A, B, C or D

that has the closest meaning to the underlined word or phrase . Write the
corresponding letter of the answer on your ANSWER SHEET. (10
points, 1 point for each)

11. Part — time jobs can relieve students’ parents of their economic burden.

A. take away B. bring up
C. heal up D. drive out

12. The boss dictated a letter to his secretary.

A. had a letter sent out B. got a letter back
C. had a letter written out D. got a letter signed




[image: image2.png]13. By trial and error, we finally got the machine to work.

A. By making mistakes

B. By laking it apart

C. By trying one thing after another
D. By checking it up and down

14. Model Il has been put into mass production. So Model 1 will soon be obsolete.

A. put into use B. upgraded
C. oul of use D. downgraded

15. The team got excited as their investigalion was on the verge of a major

breakthrough.
A. at the time of B. at the point of
C. during the course of D. in the process of

16. They were unsatisfied with the trip arrangement and lodged a complaint about
hotel service.
A. raised B. sent
C. sellled D. made

17. Advances in medicine and hygiene have made it possible for people to live

longer.
A. healthy way of life B. better food preservation
C. new diet program D. tight exercise schedule

[8. The house needs repairing. The rool leaks when it rains.
A. lets in drops of water B. lets out sound of crack
C. lets in draft of wind D. lets oul warm air
19. People are complaining about the constant noise of the traffic on the street.
A. loud B. continuous
C. heavy D. deafening

20. The beach is a beautiful selting for romance in the movie.

A. story B. place
C. date D. plot

II. Scan the following passage and find the words that have roughly the
same meanings given below. Write the word you choose in the
corresponding space on your ANSWER SHEET. (10 points, | point for
each)

Note . The numbers in the brackets refer to the numbers of paragraphs in
the passage.
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22. the width of a circular object (2)

23. close watching equipment (3)

24. guards stationed at a place to watch over and protect(3)
25. move around an area to guard against trouble or crime (3)
26. being able to turn around (4)

27. devices sensitive to light, temperature or the like (4)

28. electronic pictures or sound (5)

29. a group or collection of things (5)

30. the part of an electronic device that controls it (6)

(1) His nickname is Denny. He weighs 400 pounds; he's fearless; and he never
goes to sleep on the job. An ideal security guard? For many situations he may be.
And if he's so good that you wish you had a dozen like him, just place your order.
Denny (short for the Denning Sentry) is a robot.

(2) About four feet tall and 28 inches in diameter, Denny looks and behaves like
a cross between Star War’s R2D2 and one of Dr. Who's Daleks. He was built by
Denning Mobile Robotics (Woburn, Mass. ), with Carnegie — Mellon University's
Robotics Institute.

(3) Southern Steel Co. of San Antonio, Texas, the country’s largest maker of
prison bars, beds, and other detection — facility hardware, has ordered 600 copies
of Denny; eight of these, destined for prison duty, are now undergoing advanced
testing. Denning is also building robot sentries with slightly different capabilities
for another private security firm, and still others to patrol factories.

(4) A Denning Sentry can detect, within a 150 - foot radius, the presence of
anything or anybody that shouldn’t be there, the company claims. Its swiveling
head contains microwave and infrared (IR) sensors that can detect people as well
as smoke. In future editions the head will also contain sniffers that can smell the
faint ammonia aroma of a human body.

(5) A high - resolution TV camera in Denny’s head is on at all times. But while
the sentry grinds inexorably up and down empty corridors on routine patrol, the TV
transmitter sends no signals. When something unexpected comes into view,
however, the transmitter switches on. Thus the human overseer in the control
center doesn’ t have to watch a vast array of monitor screens. The sudden




[image: image4.png]appearance of a picture will itself be a strong warning of possible trouble. The
pictures that are transmitted will be automatically videotaped at the control center.

(6) Normal speed of the sentries is about one mile an hour. They are impact
resistant, and they can even talk, “ You have been detected,” warns the
synthesized voice from a voice chip.

Section Two Reading Comprehension (40 Points)

IV. Skim the following pasasge and read the statements given right after and
judge whether they are true or false. Write “T” for true and “F” for
false on your ANSWER SHEET. (10 points, 1 point for each)

(1) Ozaki Shoji, one of Japan’s biggest makers of school uniforms, has a
problem. Its core product is in increasingly scarce demand, as the number of
Japanese children drops. So Ozaki Shoji has branched out into casual wear, in the
hope of widening its target age — group. A small rival, Onoto, which like Ozaki
Shoji is based in the south — western prefecture of Okayama, seems to be having a
harder time adapting. Its managers think that a trend towards more individualism in
schools is also reducing demand for uniforms, in addition to the demographic

trends that are hurting their firm.

(2) The problem is not confined to uniform — makers. Low birth rates mean not
only fewer schoolchildren in Okayama, but also fewer young workers for Onoto’s
factories. This is just the start of a demographic shift that will trigger profound

changes in Japan’s economy and society.

(3) The projections vary, but most experts believe that Japan's population, now
127.6m and barely growing, will peak some time next year, and then begin a
long, steady slide that will last several decades at least. Japan's Institute of
Population and Social Security Research (IPSS) forecasts that the population will
fall to somewhere between 92m and 108m by mid — century, with a medium - case
prediction of about 100m people in 2050. The United Nations foresees a slightly
smaller drop over the period, but still to around 105m people.

(4) Even though Japanese life spans continue to lengthen, the country simply will
not have enough young people to maintain its population. The fertility rate (the




[image: image5.png]number of children per woman during her lifetime) fell below 1.3 last year, down
from 3. 65 in 1950. Although Japan’s bureaucrats have launched a drive to promote

childbirth
the fertility rate is expected to stay low for at least a few decades. By 2050

including tax breaks and rules helping parents take more leave

the proportion of children under 15 will fall to less than 11% of the population,
from 16% in 1995. The average Japanese will then be over 53 years old, 12 years
- older than now.

(5) This will affect everything from work and family life to foreign policy and
national security. Japan will probably have to let more workers immigrate, though
public unease will no doubt lead it to delay and minimize this shift as much as
possible. A smaller population may also mean slower economic growth; that will
take its toll on spending categories, like defense, whose clout depends more on
total economic weight than on income per person.

(6) One obvious consequence will be pressure on the social — insurance system,
including health care and pensions, as the working — age population shrinks
dramatically. The IPSS reckons that there will be 31m fewer Japanese between 15
and 64 years old in 2050, and that this group will shrink from two — thirds of the
| population now to just over half. The ruling Liberal Democratic Party lost ground in
the elections for the upper house this summer, partly by forcing through benefit
cuts and higher premiums on pensions. But more will have to follow. The speed of
this demographic shift and Japan’s high debt levels ( the IMF says Japan's net
public debt is around 80% of GDP) have led some to worry about a looming fiscal

implosion.

Christian Broda of the New York
Federal Reserve and David Weinstein of Columbia University

(7) A pair of economists in America

have recently
created a stir by arguing that these worries are overblown. Most of the debate has
concentrated on their long — term arithmetic: they think that Japan's population is
bound to stabilize at some point, perhaps around 2060, and that Japan will
therefore be able to ease the demographic transition by spreading the costs over the
course of a century or more. As in other countries, the Japanese have chosen
careers over children as they have grown richer. The authors argue that at some
level of prosperity, however, they will value extra money less and will want bigger
families.
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more attention. They argue that fewer children will, in a variety of ways, save
Japan some money. “If an ageing population means an increase in government
transfers to the elderly,” they write, “then by the same logic, a drop in fertility

rates should mean a decrease in expendilures on younger Japanese. ”

(9) There will certainly be fewer pupils, and therefore less demand for schools and
teachers. Eventually, this will affect universities as well, which are already reorganizing to
brace themselves for greater competition. A tighter labor market will also reduce the need
for unemployment insurance and other fiscal transfers to the young. Japan’s unemployment
rate remains high, at 4.7% , despite a recent recovery, and the jobless rate among the
youngest workers is more than twice that. Within a few years, however, the labor market,

especially for young people, should tighten dramatically.

31. Both Ozaki Shoji and Onoto are originally engaged in making of school
uniforms.

32. The experts believe that the decline in birthrates in Japan will speed up
between 2006 and 2007.

33. The fertility rate fell . down from 3.65 to 1.3 over the past 50 years.

34. The number of Japan’s population will be larger by 2050 than that at the
present, in spite of a slight fall in the first half of the century.

35. The Japanese people as a whole will welcome immigrants to their country to fill
in the gap at the labor market.

36. It implies that Japanese spending on defense will be affected by GDP per
capita income.

37. The Japanese government will be forced to keep making spending cuts on
social benefits as the society gets older.

38. The two economists Broda and Weinstein think that people’s worries over the
problem of ageing society may not be exactly true.

39. Mr. Broda and Weinstein also believe that when Japan reaches a certain level
of prosperity in the future, they will choose careers over children.

40. Japan in the future will have a problem hiring young people at the labor
market.

V. Read the following passages and choose the correct answer. Write the
corresponding letter on your ANSWER SHEET. (20 points, 1 point for
each)
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(1) Living in space looks like lots of fun. You can do certain things in space (like

floating around, or pushing huge objects) that you can’ t do on Earth.

(2) But being in space can do things to you, too. If you stay too long in a gravity
— free environment, your bones could become weak. And a small spaceship just

might “drive you batty” after a while.

(3) But even on a short trip in outer space, you might not feel as well as you'd
like to.

(4) Space travel could make you seasick!

(5) On July 4, 1982, after seven days orbiting the Earth, Space Shuttle
astronauts Thomas K. Mattingly, 2nd, and Henry W. Hartsfield, Jr. returned
home. Although not all of the experiments on board worked properly, the flight
basically seemed to be a success except for one “little” thing. Early in the flight,
astronaut Hartsfield became “seasick”.

(6) It was Hartsfleld's first spaceflight, but he’d been in lots of potentially
stomach — churning situations before. A veteran of 4, 900 hours in high -

performance jets, Hartsfield was highly resistant to motion sickness in jets and on

the Earth.

(7) Thomas Mattingly, who is also a jet pilot and is highly resistant to motion
sickness on Earth, did much better. Mattingly sailed through space with a steady
stomach. But no one knows why Hartsfield felt queasy and Mattingly didn’ t.

(8) So far, it seems there is no reliable way to predict who will become motion
sick in outer space and who won’ t. In all, at least four Shuttle astronauts have
suffered from space motion sickness. So have about half of the Apollo and Skylab
astronauts. Soviet cosmonauts have also been motion sick. And Soviet and
American scientists are working together to try to understand and eliminate the
problem. Space program officials worry that if so many highly — trained pilots get

sick in space, what will happen when civilians start flying in the shuttle?
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rolling, swaying (or just moving) of the object you are riding in or on.

(10) Symptoms of motion sickness include: dizziness, headache, nausea, a
sinking feeling in the stomach, and vomiting. In a severe attack, the victim's skin

becomes pale, almost green in color, and it feels damp.
(11) The person’s pulse is feeble, and he or she feels exhausted.
(12) Why does motion make some people ill?

(13) Doctors believe that motion sickness is caused by a “disturbance in the inner
ear”. Our ears do more than give us hearing. Our semicircular canals give us a
sense of balance and help make us aware of whether we are rightside up or upside

down.

(14) If you know that you get carsick or seasick, what can you do? Speak to your
doctor. There are certain medicines available that can help stop that queasy
feeling. But many of them can also make you sleepy. Usually, they work best if
taken before you begin feeling ill.

(15) Some people also recommend water, ice cubes, mints, or plain bread or
 toast to settle stomachs. Fresh air may also help. But these remedies don’ t always

work for everyone.

(16) Perhaps, since motion sickness is such a big problem in outer space, researchers
may soon find a way to cure the astronauts, and those of us who stay on Earth.

41. Floating in space for too long may do harm to one’s health, especially to

one's
A. lungs B. heart
C. bones D. brain
42. Which of the following statements is right about space travel, according to the
text?

A. The first space flight always makes one sick.
B. A large spaceship makes travel comfortable.
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D. A long trip in a small spaceship may drive one mad.
From the passage, we can tell that astronaut Hartsfield
A. had never been in gravily — free situation before

B. had stomach trouble when traveling in space

C. felt sick when he saw the sea from spaceship

D. felt sick during most part of the space travel

The fact that Mattingly was less sensitive to loss of gravity though he had
similar experience with Hartsfield shows that

A. training in weightless situation on earth is useless

B. a strong will is important in curing space sickness

C. it’s still unclear what can make people motion sick

D. it’s still unclear what symptoms motion sickness causes

. The case of Hartsfield’s space sickness is

A. common among astronauts B. exceptional
C. typical of all space travel D. seldom
Symptoms of motion sickness don’ t include

A. dizziness B. headache
C. stomachache D. vomiting

In a severe attack from motion sickness, one

A. turns pale B. sweats

C. faints D. feels weak

Soviet and American scientists are working together trying to
A. lessen the impact of motion sickness on astronauts

B. find out what happens to civilians when in space

C. look for ways to cure motion sickness for all people

D. study how to reach outer space without any injure

. Which of the following is best stated as an advice to cure motion sickness?
A. Take medicine when not feeling well.

B. Take medicine before feeling sick.

C. Take only water and bread when traveling.

D. Take a rightside up position on a trip.

. Talking about the possibility of a cure of motion sickness, the writer appears

A. uncertain B. suspicious

C. hopeful D. indifferent
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(1) Work, says a guru quoted in one of these books, is our “negotiation with
death”. That’s putting it a bit strong, but work is clearly something that lots of
people love to hate. Yet, in the rich world, work has changed dramatically in the
past two or three decades, in ways that have got rid of some of its more

disagreeable sides, and made what is left more interesting.

(2) The key changes have been the fading of routine manual work and the rise of

jobs that make use of networked computers. Many of the more tedious jobs that

most people did a century ago factory work, farm laboring, mining are
almost gone. Robots, not human beings, now mainly man the production line,

which symbolized the more oppressive aspects of the machine age.

(3) Instead, as Frank Levy and Richard Murnane point out, jobs have bifurcated .

there has been some growth in the simpler service jobs flipping hamburgers

and cleaning offices, say but a much greater growth of sophisticated work in
management, teaching, medicine, engineering and the law. Many of the jobs that
have gone were routine clerical tasks, which have been either taken over by
computers or outsourced abroad or both. The networked computer allows such tasks
to be structured in a way so they can be done by folk far away from the final

customer.

(4) The jobs that remain, say the two economists, are often ones that require
complex communication, conveying an interpretation of information rather than just
the facts, and making difficult judgments in unpredictable circumstances.
Computers, which can cope with simple rule — based jobs, find it far harder to
diagnose a sick patient or design a new aircraft. But, by taking over the simple
part of many jobs, they improve the productivity of skilled human beings doing

complicated things.

(5) Countries must therefore educate their citizens in ways that fit them for such
complexities. The trend in pay points the same way: in 1979, a 30 - year — old
man with a bachelor’'s degree averaged 17% more than one with a high — school

diploma; today, the gap is 50% .
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too. Thomas Malone, an organizational theorist, describes the way thal they allow
“ dramatically more decentralized ways of organizing work to become at once
possible and desirable”. He is impressed by the way Nike outsources all its
manufacturing to other companies; and by the example of eBay, from whose
auctions perhaps 150,000 people make a living. Both are instances of the new sort
of shapes that organizational life may take. He also argues for the emergence of

in which decisions are based on the

internal markets and of “democracies”

collective wisdom of the many rather than the top — down instructions of a few.

(7) Companies where employees are given more control over their working
conditions seem to generate better returns than those that give their people less
responsibility. One of the great benefits of information technology in the
workplace, says Mr. Malone, is to allow workers to make more choices. That in
turn will call for different managerial techniques: not so much command — and -
control as “ coordinate — and - cultivate”. Managers must learn to run loose
hierarchies in which much of the decision — making power is pushed down the
organization. If they set clear standards and guidelines, then teams of people can

undertake a task without centralized control.

(8) Complex communications and loose hierarchies sound much more fun thén life
on the traditional production line. Russell Muirhead concludes that “the dignity of
work comes from the way we show, through it, a determination to fulfill our
responsibilities and contribute to society. ” But that surely is too bleak a view.

People work for money, for company and for some sense of achievement.

(9) Indeed, even in a badly run organization, work can have a certain sad
pleasure. Take the NatWest (a big British retail bank) for example. John Weeks
(an American professor of organizational behavior) found that the bank’s staff
always described its corporate culture negatively. It was said to be too

bureaucratic, too rules — driven, too introverted, too centralized.
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but, if done in a socially acceptable way, created cohesion among groups of stalff.

In that respect, networked computers have changed nothing apart from giving

badly managed workers something new to whinge about.

51. The main point the writer wants to make in the first paragraph is that
A. work is tiring and is causing death
B. work is something that people love
C. work is something that people hate
D. work has become less tedious now
52. Which is NOT a sign of the coming of machine age?
A. Manual jobs are losing out.
B. More work is done by computers.
C. Robots have become more popular.
D. Production line is operated by man.
53. The networked computers
A. replace many simple jobs in the service sector
B. takes over major tasks in professional fields
C. enable some work to be done in far away place
D. let workers take more flexible work hours
54. Frank Levy and Richard Murnane are
A. teachers B. engineers
C. economists D. lawyers
55. By doing simple part of complicated jobs, computers can
A. diagnose sick patients B. design new aircrafts
C. interpret information D. raise productivity
56. The gap in the payment between degree holders and non - degree holders in
the last 25 years has grown by .
A. 17% B. 25%
C. 33% D. 50%
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A. transformation of internal market
B. top — down management of business
C. advantage of collective decision making
D. decentralized organization of production

58. Mr. Malone’s advice for good management is

A. push - and - guide B. coordinate — and — cultivate
C. take —and - give D. command - and - control
59.  believes that networked computers offer more choices to workers.
A. Mr. Levy B. Mr. Week
C. Mr. Malone D. Mr. Muirhead
60. The writer's tone in discussing the topic of work is
A. impartial B. negative
C. objective D. radical

VI. The following passage is taken from the textbook. Read the passage
carefully and choose the best answer. Write the corresponding letter of
the answer on your ANSWER SHEET. (10 points, 1 point for each)

(1) About three hundred years ago, there were approximately half a billion people
in the world. In the two centuries that followed the population doubled, and, by
1850, there were more than a billion people in the world. It took only 75 years for

the figure to double once more, so that now the population figure stands at

approximately three and one half billion. Each day the population of the world
increases by about 150,000.

(2) In former centuries the population grew slowly. Famines, wars, and
epidemics, such as the plague and cholera, killed many people. Today, although
the birth rate has not changed significantly, the death rate has been lowered
considerably by various kinds of progress.

(3) Machinery has made it possible to produce more and more food in vast areas,
such as the plains of America and Russia. Crops have been increased almost

everywhere and people are growing more and more food. New forms of food
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is grown. Meat, fish, fruit and vegetables can be dried, tinned or frozen, then

stored for later use.

(4) Improvement in communications and transportation has made it possible to
send more food from the place where it is produced to other places where it is

needed. This has helped reduce the number of famines.

(5) Generally speaking, people live in conditions of greater security. Practices

such as the slave trade, which caused many useless deaths, have been stopped.

(6) Progress in medicine and hygiene has made it possible for people to live
longer. People in Europe and North America live, on the average, twice as long as
they did a hundred years ago. In other countries, too, people generally live much
longer than they once did. Babies, especially, have a far better chance of growing
up because of increased protection against infant disease. However, all countries

do not benefit to the same degree from this progress in medicine and hygiene.

(7) In Europe and North America, the growing population has had the advantage
of greater quantities of natural resources and food. However, in some places, such
as the monsoon countries of Asia, the birth rate has always been very high. Now,
with better hygienic conditions and better medical care, fewer babies die: but the
birth rate has not changed. This means that the population is growing very rapidly

and that there is not enough food for everyone.

(8) Half the world’s people live in Asia, but most of them are concentrated in the

coastal regions and on the islands. The same type of populace concentration is true

of other continents, although they are often far less populated. There are still vast

regions of the world where very few people live: the central regions of the larger

continents, mountainous areas, deserts, the far north, and tropical jungles.

(9) In prehistoric times, people from Africa and Asia migrated to other
continents. Kurope was occupied by people from the east, America by groups from

Asia. In the nineteenth century, the population of Europe increased rapidly, and
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conditions. Many Europeans left their countries to find better conditions in

America, Africa and Australia.

(10) During the nineteenth and twentieth centuries, migrations have taken place
within certain countries: the cities with their industries have attracted people away
from the country. The possibility of earning a fixed salary in a factory or office was
more attractive than the possibility of staying on the farm and having one’s work
destroyed by frost, storms, or droughts. Furthermore, the development of
agricultural machinery made it possible for fewer people to do the same amount of

work.

(11) Thus, at the same time that the industrial revolution made it possible to
produce goods more cheaply and more quickly in factories, and agricultural

revolution also took place. Instead of leaving fields empty every third year, farmers

began to plant clover or some other crop that would enrich the soil. Instead of using

only animal fertilizer, farmers began to use chemical fertilizers to keep the soil
rich. These methods have enabled French farmers, for example, to get five times

as much wheat as was obtained from the same land two centuries ago.

(12) In many countries farmers find it more profitable to raise only one crop or one
kind of animal. They choose the kind that gives the best results. Then they sell all
that they produce, instead of trying to grow a little of everything and consume what
they grow. This is a more feasible type of operation because modern methods and
machinery are adapted to specific animals and specific crops. Therefore, it would
be too expensive to do all the work by hand, or to buy the equipment needed for

several different kinds of farming.

(13) At the same time, constant progress has been going on in industry. Fifty

years ago it took a day to assemble the pieces of an automobile. Today one factory

can produce one car in a minute. Today, too, it takes only one textile worker to

supervise the production of as much cotton cloth as 4,000 workers could have
produced in the eighteenth century. Modern industry needs large numbers of
specialized workers. The less specialized workers are gradually being replaced by
new machines. Large quantities of raw materials, sometimes brought from halfway

around the world, are also needed. To work the machines, energy must be
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maintain and improve modern factories, great financial resources are necessary. A

factory is often the property of a society or a government, rather than the property

of one person.

(14) After producing its goods, industry must sell these goods to people. If a

factory can produce more goods than it is able to sell in its own country, it tries to

sell them to people of other countries. Thus, nowadays we see more and more trade

agreements making it easier to exchange raw materials and manufactured goods

between countries, and great advertising campaigns helping industries sell more

goods.

61.

62.

63.

64.

65.

The world population grew fastest in

A. 1700 - 1800 B. 1800 - 1850

C. 1800 -1920 D. 1920 - 1950

By the time the article was written, the world population was _ times as
large as that three hundred years previously.

A. 3 B.5

C. 7 D. 9

Population has increased rapidly in the last 75 years mainly because
A. there has been a rapid rise in birth rate

B. there has been a prolonged life span

C. there has been few wars and famines

D. there has been new methods of storing food

The following that is NOT considered a factor to have reduced famines is
A. introduction of machinery farming B. better yields of crops

C. improvement in transportation D. growing of more vegetables
Preservation of food is made available by all the methods below EXCEPT
A. dried food B. tinned food

C. frozen food D. stored food
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means
A. there is less cruelty that causes death
B. there is less crime so people feel safe
C. there is more progress in medicine
D. there is more fresh food supplies
67. Life is prolonged NOT by .
A. advance in medicine B. improvement in hygiene
C. growth in birth rate D. reduction in infant disease
68. In paragraph 7 the writer mainly suggests that Asian countries ___
A. suffer from lack of resources B. fail to keep a steady birth rate
C. enjoy better medical care D. have improved hygienic conditions
69. Which is NOT true of the 19th & 20th century? -
A. Machines were introduced to farming as well.
B. New farming methods increased productivity.
C. People went to work in other industrial cities.
D. Farms were well protected against natural disasters.
70. All the following are mentioned as needed for further development of industry
EXCEPT .
A. specialized workers B. energy supplies

C. financial resources D. social mobility

Section Three Questions & Translation (30 Points)

VII. The following questions are closely related to the passage in Item VL
Write a brief answer (one to three complete sentences) to each of the
questions on your ANSWER SHEET. Pay attention to the words,
grammar and sentence structure in your answers. (15 points, 3 points
for each)

71. What are the benefits of new forms of food preservation?

72. “All countries do not benefit to the same degree from this progress of medicine

and hygiene. " Explain.

73. Why do farmers in many countries choose to raise only one crop or one kind of

animal?
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75.

What were the large scale of migration in the 19th & 20th century and what
reasons were behind them?
What changes have taken place in agriculture and what are the outcomes of the

changes?

VIII. Translate the following sentences ( taken from the passage in Item VI)

76.

77.

78.

79.

80.

into Chinese. Write the Chinese version in the corresponding space on
your ANSWER SHEET. (15 points, 3 points for each)
It took only 75 years for the figure to double once more, so that now the
population figure stands at approximately three and one half billion.
Progress in medicine and hygiene has made it possible for people to live
longer. People in Europe and North America live, on the average, twice as
long as they did a hundred years ago.
Half the world's people live in Asia, but most of them are concentrated in the
coastal regions and on the islands. The same type of populace concentration is
true of other continents, although they are often far less populated.
Instead of leaving fields empty every third year, farmers began to plant clover
or some other crop that would enrich the soil. |
At the same time, constant progress has been going on in industry. Fifty years
ago it took a day to assemble the pieces of an automobile. Today one factory

can produce one car in a minute.
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